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: 100kN/m#%#%%| 1.00| 000 ~ 1.26 119.01 [3mZ#BZ D -~ — — —| 100kN/m#%#E%%| 1.00 [10.57 ~ 14.70 119.01 |3m%i{BZ % -~ — — —
zhnLs 1.00]| 1.26 ~ 9.04 100.00 [ ZHi5t | 000 ~ 9.04| 2.14 1148 Thns 1.00 | 5.00 ~ 10.57 100.00 | £ a5t | 500 ~ 1470 | 2.14 11.48
9 100kN/mM%#BZ % 1.00| 000 ~ 0.03 10048 [3mZ#Z D -~ — — —| 100kN/mi%#8%%| 1001285 ~ 1295 100.48 [3m%Z#EZ 5 -~ - - -
Zzh st 1.00 | 003 ~ 782 100.00 | Zh kst | 000 ~ 7.82| 255 13.65 Fhst 100 | 500 ~ 1285 100.00 | #h kst | 500 ~ 1295 255 13.65
5 100kN/M#E#B % % — -~ — —|3m%EEZD -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst 1.00 | 000 ~ 7.27 9264 | ZhLis | 000 ~ 7.27 | 267 14.30 Fhst 1.00 | 500 ~ 1295 9264 | Thist | 500 ~ 1295 | 267 14.30
4 100kN/M#ZEH#B % % — -~ - —|3m%EEZ%| 000 ~ 022 327 17.48 | 100kN/M%E#BZ 3 — -~ - —|[3m%#%5|1000 ~ 11.15| 3.27 17.48
Zh st 1.00 | 000 ~ 3.81 4788 | hus | 022 ~ 381 3.00 16.05 Fhst 100 | 500 ~ 11.15 4788 | #hils [ 500 ~ 10.00 | 3.00 16.05
5 100kN/mM#Z#B % % — -~ - —|3m&HEZD -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ - — —
Zh st 1.00 | 000 ~ 6.79 8592 [ #h s | 000 ~ 0.00( 1.59 8.48 Thst 100 | 500 ~ 9.15 85.92 | #hkst | 500 ~ 9.15| 159 8.48
6 100kN/M#EH#BZ % — -~ - —|3m%E RS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 583 7295 [ #hst | 000 ~ 0.00]| 1.57 8.38 Zhst 100 | 500 ~ 7.21 7295 | #hst | 500 ~ 7.21| 157 8.38
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Zzh st 1.00 | 081 ~ 859 100.00 | Zh kst | 000 ~ 859 | 2.11 11.31 Fhst 1.00| 500 ~ 1065 100.00 | #h kst | 500 ~ 1317 | 2.11 11.31
g 100kN/M%EH#B % % — -~ — —|3m%EHEZD -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 7.11 9026 | #h s | 000 ~ 0.00 | 1.66 8.89 Fhst 100 | 500 ~ 921 90.26 | h kst | 500 ~ 921 | 1.66 8.89
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Zhst ~ Zhst ~ Zh st ~ Thst ~
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Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
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Zzhs ~ Zzhs ~ zhs ~ zhst ~
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zhst ~ zhs ~ Ths ~ Thst ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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